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c(t) = Acos(w.t + ¢,)
A

m(t)
s(t)

m(t)
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3.2.0
c(t) = Acosmyt = Acos2r ft
m(t) M(f )
c(t) .
s 1) H@% HH
s(t) ) | s(1)
“e” Acosa, t
o
m(t) < M (f)
mt)Acosont < S(f) o) =§['V'(f — o)+ M(f + fo)]
M(f) S(f)
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3.2.1
[

- m(t) = [1+m/ ()]
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AM

M ®OI<1 M(t)]pe =m

s'(t) = [1+m’(t)JAcos w,t
[1+m’'(t)] >0 s'(t)

1+m'(t)

1+m'(t)
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y(t) ={[1+ m'(t)]A+ n_(1)} cosw,t — n (1) SN w,t
N, (t) cosaw,t — n (t) Sinw,t
y(t) V, (t) = {[1+ m ©A+ n, (0} +n2 ()

V, (1) = [1+ m'(1)] A+ n,(t)
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V() =) A+ )

r, = E[m? (t) A*/n?(t)]

= E{% [1+m )] A?/n? (t)}

o _ ¢ m?2 (t) A2/ n2(t) { 2m'2 (t) }

— = Eq 1 = E - RE

T Rem@F A [1-+ (V)
m'(t) <1 it 1
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3.2.2 DSB

O m(t) DSB
[]
M(f) f)
L - o
/ \ / \‘- f ; I'|| k/ ,x | \ f
0 3 0 i
(a) (b)
3.2.5
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r'(t)

O DSB L e L
m'(t) cos w ,t s(t) T m(t)
Coéwot
cosl( w, + Aw )t + @]
3.2.6

r'(t) = m'(t) cosw,t cos[ (@, + Aw)t + @]

_ % M (t){ cos(A et + ) + COF (20, + Aw)t + ]}

%m'(t) cos(Aat + @)

m () /
2 | ]
DSB
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z(t) = x(t) y(t)
Z(w) = X(w) * Y(w)

COS wpt

S(f)
. ~ A/
/ \
\ff \1 f{ \\?/ B /f\ | / \
" -f(l,J " 0 lfoJ — f
@
H() D
—_———— ‘/ \:_ _——-
\ '. \‘ ’1/ \ /
Sy 1N
f, 0 fs
(b)
s HO
:' A ) ,-"';al".\‘\
i’ JIII \/ \j | ‘\|
.f0 fO
(©)
3.2.7

13



SSB
DSB

2006-11-30

C(f)
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3.2.4 (VSB)
0 VSB

u VSB

S’(f)=§[M(f — fo)+M(Ff + )]
H(T)
S(F)=ZIM(F = £,) + M(F + FIH(F)

0

H(T) ,
s(D)

m( )

Acosw, T
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r'(t)
%[S(f + f)+ S(f - f,)]

H(f)

—>

()

r'()

cosm, t

S(f):g[M(f —f,)+M(f + f))]H(F)

r'(t)

ZA{[M(f £ 2 )+ M(E)H(f + £,)+[M(f —2f) + M(DH(f - f,)}

M(f +2f) M(f —2f,)

A

2006-11-30 ZM (E)H(f + fo)+H(F - f,)]

H() 4

m(t)

16



R
A
ZM(f)[H(f + f)+H(f - 1,)]

[H(f+f)+H(f-f)]=C

M(f)=0, | > f,,

[H(f + f,)+H(f -f,)]=C,

VSB
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[H(f + f))+H(f - f)]=C,  [f|<f,

fo

H(f)

1
d
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